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o) 99 3N =" A (RE) 30 & A () 35 8 o EE 3
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=y a8 IKFE 2.6 ha b/ & 3.2 ha ) N
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5. ELVFEEMOHUFLLIELEN (5. SErRcasd28a BEELERRLETA. £2 - RETHETIBAEEL LT AN TEET, )

JETRREO - .- = o) | imLscps [RATMEERR ORI RLORR
e T | EWEDST | wmms | mEegoen | Ak wewn | s
a + BER2 0.6 ha BEfR2 0.6 ha 0.6 ha -] 0.6 ha
b + BER2 0.25 ha BEfR2 0.25 ha 0.25 ha -] 0.25 ha
c + BER2 0.18 ha BEfR2 0.18 ha 0.18 ha -] 0.18 ha
d + BER2 0.29 ha BEfR2 0.29 ha 0.29 ha ] 0.29 ha
e + BER2 0.35 ha BEfR2 0.35 ha 0.35 ha ] 0.35 ha
f + BER2 1.24 ha BEfR2 1.24 ha 1.24 ha ] 1.24 ha
g + BER2 0.99 ha BEfR2 0.99 ha 0.99 ha ] 0.99 ha
h + BER2 0.25 ha BEfR2 0.25 ha 0.25 ha ] 0.25 ha
i + BER2 1.04 ha BCR2 1.00 ha 1.00 ha ] 1.00 ha
i + BER2 0.27 ha BCR2 0.27 ha 0.27 ha ] 0.27 ha
k + BER2 1.91 ha BCR2 1.91 ha 1.91 ha -} 1.91 ha
I + BER2 0.46 ha BCR2 0.46 ha 0.46 ha ] 0.46 ha
m + BER2 0.27 ha BCR2 0.27 ha 0.27 ha ] 0.27 ha
n + BER2 0.28 ha BECR2 0.28 ha 0.28 ha ] 0.28 ha
0 + BER2 2.36 ha BECR2 2.36 ha 2.36 ha ] 2.36 ha
p + BCOR: 1.98 ha BCOR2 1.98 ha 1.98 ha o) 1.98 ha
q ¥ BER2 0.33 ha BECR2 0.33 ha 0.33 ha ] 0.33 ha
r + BER2 0.85 ha BER2 0.85 ha 0.85 ha ] 0.85 ha
s + BER: 0.03 ha B2 0.03 ha 0.03 ha -] 0.03 ha
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A GEVDRERBOHLTELSEORM

o ARRD 7. WE. KT HHEOES (M) s ELEMER
Wt | RHEME | BE T EFES Rt | hmzEm | wE | PeaE PR
a H 520 53&E 6,406 O
b H MR GYE 2,543 O
(" H EIlR 1& 1,868 O
d o ==]5)2 1083, 10815, 10816 2,964 O
] H 5/F 239%1 1,875 O

H 5/F 240%1 1,665 O
f H TEINE [61F1.61FE3 8,059 O
H TEINE [61F2. 61F4 4413 O
A FISMAR |52 749 (@)
H BFIFIMAR |5FE4 3,227 O
g H BF IS A 4R |5%44. 5586 4th 2,521 @)
H EFIBIM AR |5FE4S 1,821 O
H FISIMA R |5&E88. 5&89 1,645 O
h H ®E 1281 1,862 O
o ®E 1283 1,642 (@)
H ®IE 126 138M > 2,682 (@)
H ®IE 1268141 1,913 (@)
i H ®IE 1130&1 2,899 (@)
H ®E 11302 2,828 @)
H ®E 113084 24 (@)
H ®E 113085 83 (@)
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b S$HFETFE 14738 1,231 @)
H S$HFETFE  |612F1 1,533 O
H $#$HET  |612F2 1,708 (@)
k H #$HET (613F 3,158 (@)
H #$HET (614F 3,070 O
H #$HET |615F 3,695 (@)
H EMETE |94%F 4,714 (@)
b B/ E 2% 1 3,501 @)
H s/t 53&1 117 O
H s/t 5443 231 O
H s/t 5485 575 O
H s/ Lt 5582 172 O
m H BEF |92F 2,705 @)
n H KEFEAIIIR (12121 2,826 @)
H XHgERE 9781 3,318 @)
H KXHgERE |98%&3 6,247 @)
0 H INBETE |46 1,968 @)
H INETE |47FT 71,450 @)
H INETE (4783 2,347 O
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H IMIE 401 4,391 O
H INIFA] 402 1,650 O
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H INIFA] 483 2,615 O
H IMNIF 501 486 O
H BEF 19%1 6,089 O
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d H ®E 1582 1,748 O
r H MT 90%&3 8,547 O
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H /58 172%& 141 O
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